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Part - 1V (English Language)

Directions (Q.151-155): Identify the word whose
spelling is Correct
151. {A) Profesional (B} Proffessional
{C) Proffesional (D) Professional
152, {A) Schdule {B) Shidule
(C} Schedulle (D) Schedule
153. (4) intelligence (B} intilligence

{C) intalligence (D} intelligance

154. (A) ashaimed {B) ashamid
(C) ashimed (B}ashamed
155. (A} lectarer {B) leaturer
(C) lecturir {D) lecturer

Directions (Q. 156-160} : Choose the meaning
closet to the idioms from the given choices.
156. To make castles in the air

(A) tobe boastful  {B) to be too ambitious

{C) to be conceited (D) to do day-drearning
157. To fight tooth and nail

(A} to fight like a brute

(B) to fight a losing battle

(C) to make every possible effort to win

(D) to fight heroically
158. He cannot make both ends meet.

{A} earn encugh

(B) work hard

(C) control affairs

(D} manage the business
159. There is no leve lost between the two

brothers.

(A) cool

(B} intense dislike

(C) a love-hate relationship

(D} close friendship
160. Kith and Kin

(A) Neighbours {B) Friends

(C} Blood relation (D) Relative
Directions (Q.161-165}: In each of the following
questions, out of the four alternatives, choose
the one which can be substituted for the given
words/sentence.
161. A post without remuneration.

{A} Involuntary (B) Sinecure

(C) Honorary (D) Voluntary
162. A person against whom legal action is
instituted
(A} Deponent {B) Litigant
(C) Appellant (D) Defendant

163. A decision on which one cannot go back
{A) Infringible (B) Infallible
(C} Irrevocable (D) Incorrigible

164. A person in charge of a museum

(A} Anthropologist (B} Usurer

(C) Lexicographer (D) Curator
165. A nursery where children are cared for

while their parents are at work

{A) Children's Home (B) Dormitory

(C) Orphanage (D) Creche
Directions (Q. 166-170) : In the following
passage there are blanks each of which has
been numbered. These numbers are printed
below the passage and against each some words
are suggested, one of which fits the blank
appropriately. Choose the appropriate word.

Without water —---mw--- (166) animal can
survive, In desert regions the greatest ------—-- (167)
to life is drying up. The only creature equipped to
—————————— {168) with desert life is the hardy Camel.

It is said that Camels can ---------- (169) a
distance of about 800 miles in eight days through
continuous travel ------—- {170) an intake of single
drop of water.
166. (A) exceptional (B) no

(€) an (D} every
167. (A} requlrement (B) worry

{C} threat (D) need
168. (A) cope (B] resist

{C) bear (D) live
169. (A) lead (B} cover

(C) reach {D} walk
170. (A) except (B) receiving

(C) without (D) for

Directions (Q. 171-175) : Read the following
passage carefully and choose the correct
alternative to the given question.

Childhood is a time when there are few
responsibilities to make life difficult, If a child
has good parents, he is fed, looked after and toved,
whatever he may do. It is improbable that he will
ever again in his life be given so much without
having to do anything in return. In addition, life
is always presenting new things to the child-
things that have lost their interest for older
people because they are too well known.

171. A child's life

(A) has no time for entertainment

B) is packed with responsibilities
{C) has few responsibilities
(D} is full of miseries
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172. A child gets all things
{A) if he is not naughty
{B) only if parents are good
(C} if he is brilHant
(D} without giving anything in return
173, A child is looked after well
(A} by greedy parents
(B) by selfish parents
(C) by prudent parents
(D) by good parents
174. For a child life is a series
(A) of outdated experiences
B) new and wonderful things
{C) of outmoded things
(D) of things that the old people have
discarded
175. The old people tend to lose interest in
(A) new things
(B) things belonging to children
(C} familiar things
(D) the games of the children
Directions(Q.176-177} : Voice in the following
sentences has been changed.Choose the correct
option.
176. The thief was caught by the police
{A) Police has caught the thief
(B} The police caught the thief
{C) The thief has been caught by police
{I3) The police had been trying to catch the
thief
177. The hunter shot the tiger
(A} Hunter was trying to shoot the tiger
(B} Hunter shot at the tiger
(C) The tiger was shot by the hunter
(D) The tiger was killed by the hunter
Directions. (Q. 178-180} : Change the following
sentences from direct to indirect and from
indirect to direct as the case me he :-
178. Al said to the beggar, 1 know you very well'.
fA) Al told the beggar that he knew him
very well
(B} Beggar was recognized by Ali
(C) Beggar knew Ali too,
(D) Ali recognized the beggar.
179, Ashok said that Raman would play the
match.
{A} Ashok said, 'Raman play the match'
(B} Raman told Ashok that he would play the
match.
(C) Ashok said, Raman will play the match'.
(D} 'Raman shall play' said Ashok.
180. I said to my brother, 'Why were you absent
yvesterday?'
(A) 1 asked my brother why he had been
absent the previous day.
(B) I asked my brother why he had been
absent the previous day.
{C) T asked my brother if why he had been
absent the previous day.
I} 1 asked my brother why he had been
absent yesterday

Directions: (Q. 181-185) : In each of the
following questions, find out which part of the
sentence has an error.
181. (A} He was not only involved

(B} in her kidnapping

(C) but also in her murder

(D) No error
182, (A) I am sure that
(B) neither the house nor its contents
(C) is for sale
(D) No error
(

183. (A} No sconer did the police arrived
(B) than
(C) the robbers made good their escape
(D} No error

184. (A} Walking

}
(B) across the street
(C) a truck knocked him down
(D) No error
185, (A} T will have (B} both

(C) the blue (D} No error

Directions (Q. 186-190} : Fill in the blanks with
suitable options,
186. A restaurant that presents spic and span

look will naturally ------- more customers.
(A) attract (B) invite
(C} avoid {D) accommodate

187. The doctor --------- the patient from taking

certain medicines.

(A) proscribed (B) prohibited

(C} prescribed (D) banned
188, There are ----------—-- view on the issue of
giving of unbridled freedom to the growing
child.
(A) valuable (B} divergent
(C) contrary (D} averse
189. I have been staying here ---———--—- last week.
(A) since (B) for
(C) from (D) None of the above
190. They marched ~--+-=mrvme-v the hall.
(A) into B)in
(C} from (D) None of the above

Directions {Q. 191-192): Choose the correct
synonyms for the underlined word from the
given options.
191. The boy gave a vivid description of all that
happened.
(A} picturesque {B) fresh
{C) explanatory {D) brilliant
192. Itis compulsery for all the students to join

this tour.
(A} obligatory (B] necessary
(C) dutiful (D) regular
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Directions {Q. 193-195} : Choose the word most
nearly opposite in meaning to the key word.
193. ABSOLVE

(A) Blame {B) Repent
(C) Melt (D) Bless
194. FAMILIAR
(A} Alien {B) Strange
{C) Wonderful (D) Mysterious

195. In the sentence given below choose the
appropriate ' Homonym'.
Despite all our efforts success remained
(A) ellusive (B) elusive
(C) ilusive (D) illusive
Directions {Q 196-197) : In the following
sentences, replace the underlined part with the
one which can improve the sentence, from the
given options.
196. The boy told his teacher to explain the
passage.
(A) Asked his teacher
(B} Said to his teacher
(C) Invited his teacher
(D) No change _
197. Socrates was one of the wisest man that
ever lived.
{A) one of the wisest men
(B) one wise men
(C) one of the wise men
(D) no change

Directions (198-199): In each of the following
questions, a part of the sentence is italicize.
Below each sentence are given some possible
substitutions for the italicized part. If one of
them is better than the italicized part, indicate
your response against the corresponding letter.
If none of the substitutions improve the
sentence indicate 'No improvement' as your
answer.

198. The burglars broke in Mr, Sharma's house

last night.

(A} broke through (B) broke into

{C) broke down (D) No improvement
199, It is ten years since | have began living

here

(A) begun (B) had begun

{C) began () No improvement

200. In the following sentence there are six
sentences marked A, B, P, Q, R, 8. The
positions of A and B are fixed. You are
required to choose one of the four
alternatives which would be the most
logical sequence of sentences in the
passage.

A) The similarity between the human body
and a machine is rather superficial.

B} The points of difference far outweigh the
points of resemblance.

P} Beyond that, comparison fails.

) No machine grows in size; no machine
sees, hears or feels.

R) It can be summed up in the statement
that both require fuel and oxygen and
obtain energy.

5) No machine thinks. -

(A) SQPR (B) RPQS

{€) RPSQ (D) QSPR
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